- PIAA

2012-2013 Toyota Tacoma Vehicle Specific Kit Part # 5354

Thank you for purchasing PIAA product.
Please read this entire manual carefully before installation.
Keep this manual for reference after installation.

www.piaa.com
3004 NE 181st Ave. Portland, OR 97230
800-525-7422



LP530 LED Driving Lamps (2)
Tacoma Lamp mounting Brackets (2)
Wiring Harness (1)

Mounting Hardware (1)

OCNnwx>

Hardware Pack Contents

3/4" Stainless Lath Screws (4)
2" Stainless Lath Screw (4)
1/4" Lock Washers (8)

1/4" Flat Washers (8)

monNnwx

10mm Open Ended Wrench

11/32"x 1-3/4” Compression Springs (4)

What You Will Need

Wire Cutters

aaaa o s ol
R R R w—»»m |

Phillips Screw Driver (Short
Recommended)




Installation Instructions

Note: Before starting the installation, please remove
the negative (-) battery terminal from the battery post.

1. Remove the PIAA bracket that comes on the
LP530 lamps with an 8mm open-ended wrench or a
phillips head screw driver. (picture 1)

2. Install the Tacoma mounting brackets to the LP530
lamps using the existing hardware that you removed in
step one like you see in picture 2.

3. Remove (2) 10mm bolts from underside of the
bumper holding front mud guard. (see picture 3)

4. Unplug factory fog lamp and remove 2
screws towards the outside of the bumper holding
OEM fog light as shown in picture 4.

5. Assemble (2) 3/4” lath screws with 1/4”

lock washer and 1/4” flat washer as shown in
picture 5.

6. Assemble (2) 2" lath screws with V4" lock
washer, 74" lock washer and 1-1/2” compression
spring shown in image 6.

picture 1

picture 2

picture 3




Installation Instructions

picture 7

5. Using the smaller 3/4” screws you just assem-
bled, align PIAA bracket up to factory holes towards
the outside of the bumper and snug to outside screw
holes. Do not tighten as you will need some
adjust-ability for inside mounting screws and compres-
sion springs when aiming the lights. See picture 7

6. Take 2” screw and washers and pass them
through the PIAA mounting bracket and compres-
sion spring into the plastic factory mounting shown
in picture 8.

Note: make sure the tip of the screw hits the center
of mounting platform shown in picture 9.

7. At this time make sure PIAA lights
aligned in factory openings and level with
PIAA logo reading right side up. ( picture 10)




Installation Instructions

picture 11

8. Once everything is aligned, go ahead
and tighten down all mounting hardware.
Note: Do not over tightening screws as they
will strip out of the factory plastic mounting
points. After snugging up all hardware see
page 7 for aiming instructions and you can
aim the lights by compressing the spring in
the mounting assembly. See picture 11

9. Now you can start installation wiring harness.
For wiring instructions see page 6. Replace the (2)
10mm factory bolts and screws on both sides that
mount the front mud guards that were removed in
step 3.

picture 12

10.  On the driver side of the vehicle located on
the firewall, there is the fuse box bracket and
10mm bolt going into the firewall. This makes a
easily accessible location for mounting the PIAA
relay. Do not over tighten the bolt as it may break
the PIAA relay mounting hole. (picture 12)




l

SF

®

Ground (-)

Switch LED
Red=on / green=off

LTV
[}

on/off

be pointing down

|
0

+
Battery
3
=
Npt Supplied By PIAA =
() (O] X
gl 3 3
-0 sl & @
¥ 5
=
T
@
Ofs) 0| |
- ~ o o [7)]
Q \ 8
A O
| | T 3
(0]
h'e
) | N
LA | g
Wires from fuse | - 2
box and relay must §

+ Switch Power




Aiming Instructions

\

Visual aim is made with the center of the beam hot spot 1.5 inches below the lamp center at 25 feet with the lamp facing straight
forward. (see below.)

Measure driving lamp down angle
at the center of the beam hot spot.

‘ g 'l....||1|||||11|llllll'lll'l'll'l\]]”l‘l”“l'll“ I'evel

<~ Center of
hot spot
Measure lamp height to center. 1.5" below
\ N ] levelline.

£S5

A

25 feet

&CAUTION

Do not use driving lights into oncomin g traffic.
Driving lights should never be the only foreword light source.
Driving lights should only be used with the headlamp high beams.




\

With the exception of bulbs,PIAA Corporation, USA ("PIAA") warrants its products to be free from defects in workmanshipand
materialsunder normal use for as longas the originalpurchaser owns them.

EXCLUSIONS

improper installation,unauthorizedrepairs, submersion,theft, vehicle crash, or by any other type of impact.Except for the Limited
W arranty stated above, there are no warranties of PIAA products or any part thereof, whether express or implied. Any implied
Warrant?/ of merchantabilityor any warranty of fitness for a particular purpose is expressly disclaimedSome states do not permit
the disclaimerof implied waranties.

LENS CRACKS

Crash or impact damageis not covered.This can be determined by a chip or scrape on the lens or the housing.Stress cracks
sometimesoccur when the lens is subjectedto sudden and extreme temperatue changesA stress crack has no chip or other sign
of impact.Stress cracks are covered under warranty.

EXCLUSION OF DAMAGES

In no event shall PIAA be liable for any damageswhatsoever (including,without limitation, consequential damages,incidental
damages,or damagesfor loss of use, loss of business profits, business interruption, loss of business information, loss of time,
inconvenienc, or other losses) arisingout of the use, misuse, or inabilityto use a PIAA product.PIAA reserves the right to change
the designits products without any ogligationto modifyany previous product This warranty gives you specific legalrights. You may
also have other rightsthat vary from state to state.

REPAIR AND REPLACEMENT

If a PIAA productis suspectedof beingdefective, it must be submittedfreight prepaid,to either an authorized dealer or distributor
for warrant?/ inspectionThe receipt or other proof of purchase and a description of the problem must be includedThe returned
product will be inspected. If the product is found to be defective and covered by this Limited W arranty, the sole remedyis repar
or replacementat PIAA's option.A repared or replacement poduct will be shippedback at no charge, and will be warranted to be
free from defects in workmanship and materials under normal use for as long as the original purchaser owns it. Removal,
installation,or reinstallationcosts are not covered by this LimitedW arranty.

PIAA  CORPORATION, USA
3004 NE 181st Avenue Portland, Oregon 97230
\_ Telephone: 503.489.6666- Fax: 503.489.6600 - Web: www.piaa.com )




